
SAP ABAP table COSBD {CO Object: Total of variances/accruals, of which settled}

COSBD

MANDT [CLNT (3)]

LEDNR [CHAR (2)]

OBJNR [CHAR (22)]

GJAHR [NUMC (4)]

WRTTP [CHAR (2)]

VERSN [CHAR (3)]

ABKAT [NUMC (2)]

KSTAR [CHAR (10)]

HRKFT [CHAR (14)]

VRGNG [CHAR (4)]

PAROB [CHAR (22)]

BEKNZ [CHAR (1)]

AWKUS [CHAR (1)]

TWAER [CUKY (5)]

CSKA

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

KSTAR [CHAR (10)]
 COSBD-KSTAR = CSKA-KSTAR 0..N

1

ONR00

MANDT [CLNT (3)]

OBJNR [CHAR (22)]

 COSBD-OBJNR = ONR00-OBJNR 
0..N

1  COSBD-PAROB = ONR00-OBJNR 0..N
1

T000

MANDT [CLNT (3)]

 COSBD-MANDT = T000-MANDT 

0..N

1

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 COSBD-TWAER = TCURC-WAERS 

0..N

1


